

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/7/2025 9:16:27 AM

			General De	etails				
Parcel ID:	215-0010	-01780						
Document:	Abstract -	413557						
Document Date	e: 05/28/198	6						
		Le	gal Description	on Details				
Plat Name:	ANGOR	\						
Sec	ction	Township	F	Range	Lo	ot	Block	
1	10	61		18	-		-	
Description:	SW 1/4 0	OF SE 1/4 EX 1 AC	FOR GRAVEL PI	T AT NW CORN	ER			
			Taxpayer D	etails				
Taxpayer Name	e OHOTTO	JERRY T						
and Address:	8776 HW	Y 1						
	COOK MI	N 55723						
			Owner De	tails				
Owner Name	ОНОТТО	JERRY T						
Owner Name		VALERIE K						
		Pay	able 2025 Tax	c Summary				
	2025	- Net Tax			\$1,975.0	0		
	2025	- Special Assessm	al Assassments			\$85.00		
			al Tax & Special Assessments			\$2,060.00		
	202:		-			0		
		Curre	nt Tax Due (a	s of 5/6/2025)			
	Due May 15		Due Octol	ber 15		Total Due		
2025 - 1st Ha	lf Tax \$1,03	0.00 2025 - 2	2nd Half Tax	\$1,03	30.00 2025 -	1st Half Tax Due	\$0.00	
2025 - 1st Ha	If Tax Paid \$1,03	0.00 2025 - 2	2025 - 2nd Half Tax Paid		60.00 2025 -	2nd Half Tax Due	\$1,030.00	
2025 - 1st Ha		0.00 2025 - 2	2025 - 2nd Half Due \$1.030.00			2025 - Total Due \$1.0		
2023 - 15t Ha		0.00 2023 - 2						
	0770 1 104	(Parcel Det	tails				
Property Addre		Y 1, COOK MN						
School District								
Tax Increment Property/Home		, JERRY T						
ropeny/nome	Steader. ONOTIO		ent Details (20	25 Pavahle '	2026)			
	Homestead Status	Land EMV	Bidg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
Class Code (Legend)	Jialus		\$222,900	\$261,100	\$0	\$0	-	
Class Code (Legend) 201	1 - Owner Homestead (100.00% total)	\$38,200			1	¢0		
(Legend)	1 - Owner Homestead	\$38,200	\$0	\$38,000	\$0	\$0	-	



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/7/2025 9:16:27 AM

			Land De	tails		
Deeded Acres:	39.00					
Waterfront:	-					
Water Front Feet:	0.00					
Water Code & Desc:	W - DRILLED WE	LL				
Gas Code & Desc:	-					
Sewer Code & Desc:	S - ON-SITE SAN	IITARY SYSTE	ΞM			
Lot Width:	0.00					
Lot Depth:	0.00					
The dimensions shown are n	ot guaranteed to be su	urvey quality. A mPlatStatPop	Additional lot i Up.aspx. If th	nformation can be ere are any quest	e found at ions, please email PropertyT	ax@stlouiscountymn.gov
	-	Improve	ment 1 De	tails (HOUSE	E)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	, Basement Finish	Style Code & Desc
HOUSE	1986	1,34	14	1,344	AVG Quality / 672 Ft ²	SE - SPLT ENTRY
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	28	48	1,344	BASEMENT WITH EXTE	
DK	1	_0 14	16	224	POST ON GF	
Bath Count	Bedroom Cou		Room Co		Fireplace Count	HVAC
1.75 BATHS	3 BEDROOM		5 ROOM		0	CENTRAL, WOOD
		-		-	-	
In a second sector sector in a	Veen Duilt	-		ails (12X20 ST	•	Stude Code & Door
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
STORAGE BUILDING	0	48	-	480	-	-
Segment	Story	Width	Length	Area	Foundat	
BAS	1	12	20	240	POST ON GF	ROUND
		Improvem	ent 3 Deta	ils (POLE BL	DG)	
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
POLE BUILDING	1999	2,56	60	2,560	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	40	64	2,560	FLOATING	SLAB
L		Improver	ont 1 Dot	ails (DG W/W		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
GARAGE	0	572		572	Dasement i mish	DETACHED
Segment	Story	Width	Length	Area	- Foundat	
WIG	1	22	26	572	FLOATING	
	l					
		-		tails (DG W/L	Т)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
GARAGE	0	572	2	572	-	DETACHED
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	22	26	572	FLOATING	SLAB
LT 1		14 26		364	POST ON GROUND	
		Improve	ment 6 De	tails (8X12 S	Г)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
STORAGE BUILDING	0	96	;	96	-	-
	Story	Width	Length	Area	Foundat	ion
Segment	0.01 y	TTT MALL	Longui			



PROPERTY DETAILS REPORT





Date of Report: 5/7/2025 9:16:27 AM

		Improven	nent 7 De	tails (8X40 SEM	I)		
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING 0		32	0	320	-	-	
Segment	Segment Story W		Length	n Area	Foundat	ion	
BAS 1		8	40	320	POST ON GF	ROUND	
		Improven	nent 8 De	tails (TRAVEL T)		
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
	0	176		176	-	-	
Segment	Story	Width Ler		n Area	Foundat	ion	
BAS	0	8	22	176	-		
		Improvem	ent 9 Det	tails (SHIP CON	T)		
Improvement Type	Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	0 256		6	256	-	-	
Segment	Story Width		Length	n Area	Foundat	ion	
BAS 0		8 32		256	POST ON GF	ROUND	
		Improveme	nt 10 Det	tails (A FRAME	ST)		
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	28	8	288	-	-	
Segment	Story	Width	Length	n Area	Foundat	ion	
BAS	0	12 24 28		288	POST ON GROUND		
	II	mprovemer	nt 11 Deta	ails (SUNROOM/	GH)		
Improvement Type	Year Built	Year Built Main Floor Ft		Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING			-	-			
Segment	Story	Width	Length	n Area	Foundat	ion	
BAS	0	10	12	120	POST ON GF	ROUND	
		Improvem	ent 12 De	etails (SEMI TRL	R)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	0	32	0	320	-	-	
Segment Story		Width Lengt		n Area	Foundation		
BAS	0	8 40		320 POST ON GRO		ROUND	
•	Sala	s Reported	to the St	Louis County	Auditor		
Na Oalaa infamati		a neporteu	to the St		nuultu		
No Sales information r	eported.						



St. Louis County, Minnesota



Date of Report: 5/7/2025 9:16:27 AM

		A	ssessment Histo	ory		
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV		Def Bldg Net Tax EMV Capacity
2024 Payable 2025	201	\$41,100	\$202,100	\$243,200	\$0	\$0 -
	111	\$41,700	\$0	\$41,700	\$0	\$0 -
	Total	\$82,800	\$202,100	\$284,900	\$0	\$0 2,602.00
2023 Payable 2024	201	\$33,600	\$202,100	\$235,700	\$0	\$0 -
	111	\$32,200	\$0	\$32,200	\$0	\$0 -
	Total	\$65,800	\$202,100	\$267,900	\$0	\$0 2,519.00
	201	\$33,600	\$192,900	\$226,500	\$0	\$0 -
2022 Payable 2023	111	\$32,200	\$0	\$32,200	\$0	\$0 -
	Total	\$65,800	\$192,900	\$258,700	\$0	\$0 2,418.00
	201	\$33,600	\$163,200	\$196,800	\$0	\$0 -
2021 Payable 2022	111	\$32,200	\$0	\$32,200	\$0	\$0 -
	Total	\$65,800	\$163,200	\$229,000	\$0	\$0 2,095.00
			Fax Detail Histor	у	· · · · ·	· · · ·
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable M\
2024	\$2,247.00	\$85.00	\$2,332.00	\$63,515	\$188,358	\$251,873
2023	\$2,237.00	\$85.00	\$2,322.00	\$63,300	\$178,545	\$241,845
2022	\$2,177.00	\$85.00	\$2,262.00	\$62,466	\$147,006	\$209,472

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.